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THoe e, qve @ HGIR -ou(Fs) (et GHfve)

ax? +bxy+cy +dx+cy+f=0
S,
/ \ Parabola Hyparabola
b+ 0
a=C a* C

Circle Ellipse
TwERe :3)16x% + 8xy + y2 — 74x — 78y + 212 = 0(P)
() 8x% + 4xy + 5y? — 24x — 24y = O(E)

©x*+4xy+y*—2x+2y—6=0(H) (8) 3x2+3y?>—6x+9y—14 = 0(C)

Hyperbola
x*  y? (x=h)?  -k)?* _ yi. x% -K)?  (x-h?* _
**E—b—2=10r 02 — L2 =1 **ﬁ—;—]_or L2 — 72 =1

Trreae :3)9x% — 16y% + 72x = 32y — 16 = 0 =5 (h,K)=(-4,-1)

2
aifire wrg, SHD°_ OFD7 g
42 32

Adfa vertex(+a, 0) =(2+4,0) = (=4 + 4,—1 + 0) = (=8, —1)and(0,—1)

oty focus(+ae, 0) = (£5,0) = (=4 +5,—-1+4+0) = (1,—1)and(-9,—1)

ae = ¢ =+ a? + b?

2)25x% — 144y* — 200x — 288y — 3344 = 0 =7 (h,kK)=(4,-1)

x-0?  @+D? _
affire s, —— =1

(x—4)?
22

=1

©)9x2 — 4y% — 72x + 8y + 176 = 07 (h K)=(4,1) 2t =IwR, (y;)z -
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